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— i i =,/ mo 0 0 0 0
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Wt W 4 #F | mgle 7.0 48 47.0 3.5
R (2 ATKE R (TOC) m k)| mg/e 0.7 0.4 0.3 0.3
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WO M e % #| mg/l <0.004 <0.004 <0.004 <0.004
LT ACEMAT L R ORI T | me/o <0.001 <0.001 <0.001 <0.001
rr EEXE O, E mg/0 0.5
1 % | me/o <0.06 <0.06 <0.06 0.1
Y o o BE | me/o <0.002 <0.002 <0.002 <0.002
7w o & A u mgle <0.0001 <0.0001 <0.0001 0.0002
v s w o | mg/ <0.003 <0.003 <0.003 <0.003
Y 7w Esuow fA Y mg 0.0002 0.0001 0.0002 <0.0001
B # | me/e <0.001 <0.001 <0.001 <0.001
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N U 2 v oo B | me <0.003 <0.003 <0.003 <0.003
7w x v sou sk mgl <0.0001 <0.0001 <0.0001 0.0001
7 n o€ & A& 4 mg/e <0.0001 0.0003 0.0005 <0.0001
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x L A 7 A F b K| mg/e <0.008 <0.008 <0.008 <0.008
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IV T NARY VT INFERE R A A
7 K H 11H8H
P X 5 E v i B K| BT RE K B 15 | B2 5 | B3 T | AT
= m C 12.0 12.0 12.0 11.5 11.0 11.0
K wH C 9.5 13.0 11.0 10.5 11.0 11.0
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